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Schottky/nonlinear chrom in yellow—>took blue
Octupole correction of bi5 and bo6 triplets
Octupole corretion of bo7 and bi8 triplets

Measured residual sextupole and octupole across
IR6 and IR8

Octupoles in the machine (ramped between flattop
and store stones)

Still missing:
(octupole) correction in yellow IR8->operations

fine adjustments, checks
Skew sextupole correction >beam ex?



Correction blue IR6
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Bi5 octupole terms
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IR6 residual across IR
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Blue IR8 uncorrected fit coefficients
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10mm here not enough for orders > 2



YI7 10mm bump - no correction
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Data from a couple of weeks ago - yellow YI7
Strong octupole in yellow IR7
Orders> 2 measurable for 10mm > 15mm ?



Operational sextupole corrections

Sextupole Strength f*=2m Strength p*=1m Strength p*=1m
corrector 5000 A Run2003 | 2000 A Run2003 |5000 A Run2004
y05-sx3 -0.014 -0.003 -0.006

yi6-sx3 0.004 o) 0.003

yi7-sx3 0.003 0.007

y08-sx3 -0.01 -0.038

bi5-sx3 0.0012 0.001 (0.001)

bo6-sx3 -0.004 -0.003

bo7-sx3 0.0 -0.003 (0.0003)

bi8-sx3 0.0 -0.0005




Blue IR correctors

corrector Beta X Beta Y Strength (current)
bob-oct?2 H | 1048 579 +0.5 +25 A
bo6-oct3 V | 482 1302 +0.2 +10 A
bo6-sx3 V | 482 1302

bi5-sx3 H | 1306 480

bi5-oct3 H [ 1306 480 +0.1 +H A
bi5-oct2 V | 581 1045 +0.5 +25 A
bo7-sx3 VvV |481 1300 To be readjusted

bo7-oct3 V | 481 1300 +0.0 0
bo7-oct?2 H | 1048 579 +0.2 +10 A
bi8-oct2 vV | 581 1045 +0.0 0
bi8-oct3 H [ 1306 480 +0.4 +20 A
bi8-sx3 H 1306 480 To be readjusted




Yellow IR correctors

corrector Beta X |BetaV |[strength

yi6-oct2 V [568 1044 Not needed for now
yi6-oct3 H |1278 480 Not needed for now
yi6-sx3 H|1278 480 0.003

y05-sx3 vV 1471 1302 -0.006

yo5-oct3 V471 1302 Not needed for now
yob-oct2 H 1025 578 Not needed for now
yi7-sx3 H|1278 480 To be done
yi7-oct3 H | 1278 480 To be done
yi7-oct?2 V568 1044 To be done
yo8-oct?2 H | 1025 578 To be done
yo8-oct3 vV |471 1302 To be done

y08-s5x3 vV 1471 1302 To be done
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